


1) Convert the measurements. 

      1 cm = ______ mm 

  3 cm = ______ mm 

       ______ cm =  50 mm 
       
2)  Find the difference between 2 and 6 
 

3)   What is the length of the fish? 
 

                                                   ______ mm 
 
 





The van is ____ mm long. 

The train is ____ cm long. 

How much longer is the train than the van? 



100 mm 50 cm ____ cm 

___ cm 200 mm 50 mm 

15 cm ____ mm 55 cm 

Have a think 

= 1 m 

Complete the table so that each  
row and column adds up to 1 m. 

= 1 m 

= 1 m  

1 cm = 10 mm 
1 m = 100 cm  

= 1 m = 1 m = 1 m  


